es-p-equiv!t40

es = es’ mod es,e.P(es;e)
=4qet {€:E| P(es;e)} = {e:E| P(es’;e)}
& (Ve:{e:E| P(es;e)} . kind(e) = kind(e) & loc(e) = loc(e))
& (Veq, ex:{e:E| P(es;e)} .
((e1 < e3) <= (e1 < e2)) & (val(ey) = val(ez) <= val(e1) = val(ez)))

clarification:

es = es’ mod es,e.P(es;e)
=4ot {€:es-E(es)| P(es;e)} = {e:es-E(es’)| P(es’;e)}
& (Ve:{e:es-E(es)| P(es;e)} .
es-kind(es; e) = es-kind(es’; e) € Knd & es-loc(es; €) = es-loc(es’; e) € Id)
& (Vep:{e:es-E(es)| P(es;e)} , ea:{e:es-E(es)| P(es;e)} .
(es-causl(es; e1; ea) <= es-causl(es’; e1; e2))
& (es-same-val(es;er;ea) <= es-same-val(es’;e1;ez)))
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